PALINDROMES

Type:

Programme

Bytes:

135.5

Check sum:
2608 Hexadecimal

Input:

An integer

Output:
Tagged Real



Integer

The programme attempts to find a palindrome by integer reversion addition. During processing, the screen displays, e.g.

Iteration: 5

1234

4321

The input number, say 54, is reversed to 45 and the sum of the two found. If this proves to be palindromic, as is 99, the programme ends and returns the tagged number of iterations required and the palindromic result. If not, the process is repeated with the sum (99…) until a palindrome is found (or batteries are exhausted).

e.g.

Input:

1793

Output:
Iteration:5.



293392

